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Tutorial (3)

Shear Force and Bending Moment
Diagrams
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Example (1): Draw the shear force and 5
bending moment diagrams for the beam /T 2 C >
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Example (2): Draw the shear force S
and bending moment diagrams for 4 5 c
the beam shown in the figure. T 0t 101t |
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Example (3): Draw the shear force
and bending moment diagrams for
the beam shown in the figure.
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Example (4): Draw the shear force
and bending moment diagrams for
the beam shown in the figure.
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Example (5): Draw the shear force
and bending moment diagrams for
the beam shown in the figure.
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Questions?
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